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Moscow Workshops

Problem I. Diversity Street

Input file: standard input
Output file: standard output
Time limit: 3 seconds
Memory limit: 512 mebibytes

A building company wants to build n houses on a new street. Due to requirements of increasing diversity of
the city skyline, all houses must have different heights from 1 to n floors. Moreover, there are m additional
restrictions on minimum height of buildings on certain intervals of the street. Due to importance of the
new street, city administration is ready to cancel one of the restrictions. Determine whether it is possible
to create a plan for the new street under the given constraints.

Input
The first line contains two integers: the length of the street n and the number of height restrictions m
(2<n<3-1051<m<3-10°%).

The next m lines contain restrictions. Each restriction is described by three integers h, s, and f which
mean that houses from s to f inclusively must have height at least h (2 < h <n,1<s< f <n).

Output

If it is not possible to create a street plan, print “NO” on a single line.

Otherwise, on the first line, print “YES”. On the second line, print a street plan consisting of n house
heights. The plan must satisfy all restrictions except possibly one. If there are several possible plans, print
any one of them.

Examples

standard input standard output
22 YES
211 21
21
32 YES
212 132
223
4 2 NO
412
324
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